Form P-359 Rev. 12-19-2007

TABULATION

		DESCR	IPTION:						
1/2 Ton Pick	ups				CONTRACT NO.:	H-14-316R		DATE OPENED:	2/25/2014
					FOB:	Stat	tewide	PAGE:	1 of 5
	P. O. E Morrilto John M 501-35	54-4541)						
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UNI	T PURCHASES
1.	49	17,945.00	879,305.00	2014 Ford	F150		90 Days ARO	2014 Fleet O	rder Cutoff
2.	17	18,233.00	309,961.00	2014 Ford	F150		90 Days ARO	2014 Fleet O	rder Cutoff
3.	15	19,356.00	290,340.00	2014 Ford	F150		90 Days ARO	2014 Fleet O	rder Cutoff
4.	7	22,973.00	160,811.00	2014 Ford	F150		90 Days ARO	2014 Fleet O	rder Cutoff
		TOTAL:	1,640,417.00						
TOTAL RECOMMENDED AWARD: \$309,961.00									
TENTATIVE	LY AW <i>A</i>	ARDED BY:	Purchasing Com	mittee		DATE:	3/17/2014	CARD:_	00-25
		ITEM(S):	2 ONLY			- -			
	AW	VARDED TO:	Allison Ford Linco	oln Co.		_			

Form P-359 Rev. 12-19-2007

TABULATION

		DESCR	IPTION:						
1/2 Ton Pickı	ups				CONTRACT NO.:	H-14-316R		DATE OPENED: _	2/25/2014
					FOB:	Stat	tewide	_ PAGE: _	2 of 5
	Hot Sp Dennie 501-57	Central Avenuerings, AR 719 Spencer 25-0800	913						
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UNIT	PURCHASES
1.	49	18,414.00	902,286.00	2014 Ford	F-150		90 Days ARO	Balance Out 201	4 Model Year
2.	17	18,372.00	312,324.00	2014 Ford	F-150		90 Days ARO	Balance Out 201	4 Model Year
3.	15	19,785.00	296,775.00	2014 Ford	F-150		90 Days ARO	Balance Out 201	4 Model Year
4.	7	23,112.00	161,784.00	2014 Ford	F-150		90 Days ARO	Balance Out 201	4 Model Year
		TOTAL:	1,673,169.00					•	
TOTAL REC	COMMEN	IDED AWARD:	902,286.00						
TENIT	ΔΤΙ\/⊏	ΔW/ΔRD RV·	Purchasing Com	mittee		DATE:	3/17/2014	CARD:	00-25
I EIN I	AIIVE			milee		DATE.	3/11/2014		
			#1 ONLY			-			
	ΑV	/ARDED TO:	Riser Ford						

Form P-359 Rev. 12-19-2007

TABULATION

DESCRIPTION:

1/2 Ton Pick	ups				CONTRACT NO.:	H-14-316R		DATE OPENED: 2/25/2014	
					_				
					FOB:	Stat	ewide	_ PAGE: _	3 of 5
VENDOR:	2000 E Jonest Keith E 870-88	augh Ford Lin East Highland boro, AR 724 Brawley 36-2414	Drive 01						
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UNI	T PURCHASES
1.	49	18,519.08	907,434.92	Ford	F-150 RC SWB 4 x 2		90 Days ARO	June 2	014
2.	17	18,782.08	319,295.36	Ford	F150 RC LWB 4 x 2		90 Days ARO	June 2014	
3.	15	19,545.08	293,176.20	Ford	F150 Super Cab 4 x 2 SWB		90 Days ARO	June 2014	
4.	7	23,242.08	162,694.56	Ford	F150 Super Cab 4 x 4 SWB		90 Days ARO	June 2014	
		TOTAL:	1,682,601.04						
TOTAL RECOMMENDED AWARD: 293,176.20									
								CARD:_	00-25
TENTATIVE AWARD BY: Purchasing Committee						DATE:	3/17/2014		
		ITEM(S):	3 ONLY			-			
	ΑV	VARDED TO:	Cavenaugh Ford	Lincoln		-			

Form P-359 Rev. 12-19-2007

TABULATION

DESCRIPTION:

1/2 Ton Pick	cups				CONTRACT NO.:	H-14-316R		DATE OPENED: 2/25/2014
					FOB:	State	ewide	PAGE: 4 of 5
	3227 H Walnu Ronald	augh Auto Wo Hwy. 67 North It Ridge, AR 7 Id Cavenaugh 36-3561						
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	49	19,192.70	940,442.30	2014 Chevrolet	Silverado 1 WT		5/30/2014	5/2/2014
2.	17	19,565.40	332,611.80	2014 Chevrolet	Silverado 1 WT		5/30/2014	5/2/2014
3.	15	21,768.55	326,528.25	2014 Chevrolet	Silverado 1 WT		5/30/2014	5/2/2014
4.	7	24,679.00	172,753.00	2014 Chevrolet	Silverado 1 WT		5/30/2014	5/2/2014
	<u> </u>							
	+							
	+					+		
	+							
TOTAL: 1,772,335.35								
TOTAL RECOMMENDED AWARD: 0.00								
						B.1		CARD: 00-25
TENTATIVE AWARD BY:						_ DATE:_		
ITEM(S):						_		
AWARDED TO:						_		

Form P-359 Rev. 12-19-2007

TABULATION

		DESCR	RIPTION:						
1/2 Ton Pick	ups				CONTRACT NO.:	H-14-316R		DATE OPENED: _	2/25/2014
					-				
					FOB:	Stat	tewide	_ PAGE: _	5 of 5
	118 W Walnu Keith E 870-88	augh Dodge est Main t Ridge, AR 7 Brawley 86-2414			MODE!			Labbitionia, unio	, DUDOUA OF O
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	ENGINE MODEL	DELIVERY	ADDITIONAL UNIT	PURCHASES
1.	49	20,175.00	988,575.00	Ram	1500 RC SWB 4 x 2		90 Days ARO	June 2	014
2.	17	20,502.00	348,534.00	Ram	1500 RC LWB 4 x 2		90 Days ARO	June 2	014
3.	15	20,507.00	307,605.00	Ram	1500 Quad Cab 4 x 2 SWB		90 Days ARO	June 2	014
4.	7	21,749.00	152,243.00	Ram	1500 Quad Cab 4 x 4 SWB		90 Days ARO	June 2014	
TOTAL: 1,796,957.00					•				
TOTAL RECOMMENDED AWARD: 152,243.00									
TENTATIVE AWARD BY: Purchasing Committee						DATE:	3/17/2014	CARD:_	00-25
		ITEM(S):				•			
	AW	'	Cavenaugh Dodg	je		•			